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State two advantages for Neat and Smart Ltd ’s supplier of using job production. (2 marks)
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Explain the importance of Neat and Smart Ltd providing a good service for its customers. (5 marks)
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Explain one example of how Trading Fair’s shopping bags must be fit for the purpose sold. (2 marks)
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Trading Fair is considering whether it should introduce an online service selling its products through a website.  Advise Trading Fair whether or not this is a good idea. Give reasons for your advice. (9 marks)
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2 Read Item B and then answer the questions that follow.

Item B
Neat and Smart Ltd

Neat and Smart Ltd was set up two years ago to provide good quality uniforms at
reasonable prices to local schools. Each pupil is measured and the measurements
for the uniforms are emailed to a manufacturer in India. The manufacturer uses job
production to make each uniform and then sends the products back to the schools.
The manufacturer insists on being paid with the order but Neat and Smart Ltd is
finding it difficult to make parents pay when they pick up their orders. Sometimes, the
parents do ot collect or pay for their orders.
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Neat and Smart Ltd has a small number of full-ime staff in the UK who sort out the
orders. The staff need to be paid all the year round. The company has an overdraft
limit at the bank of £25 000 but this has a high rate of interest. The shareholders are
worried about low profits.

The quality of the service provided by the manufacturer is causing problems.
A recent delivery had several mistakes in the clothes sent. Orders have also not
been arriving on time. Teachers at the schools are unhappy that pupils are unable to
start the school year with the correct uniform.  Parents are threatening to go back to
other local uniform shops.

‘Source: photograph, Getty Images
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2 Read Item B and then answer the questions that follow.

ltem B
Trading Fair

Trading Fair was set up five years ago s a local enterprise to raise money and to
help provide better prices and working conditions for farmers and workers in Africa.
Trading Fairis run by a group of friends who decide how the enterprise should

operate.

‘The enterprise imports products such as jewellery, toys and shopping bags. These

are then packaged and labelled by local volunteers. The products are sold directly L
tothe public at charity events and stalls at local markets.  Trading Fair sells good

quality products at prices that are similar to charity shops and has many loyal
‘customers.

One volunteer has suggested that Trading Fair should raise the price of its jewellery
to enable it to make more money for the African workers. It could also introduce an
online service by selling through a website. There would be extra costs to start up
this service. Some members of the group are not in favour of the website as they
believe that it would be risky. It would tumn their local enterprise into a big business
‘which they would not recognise or feel part of. Other volunteers believe it would
mean more customers from a wider area.





